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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(iit)
(iv)
v)
(vi)

(vit)
(viii)

(ix)

1. Read the following statements carefully :

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section — A : Macro Economics

Section — B : Indian Economic Development

This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
candidates only.

There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)

Statement 1 : Ex-post savings and Ex-post investments are equal at all

levels of income.

Statement 2 : Under the effective demand principle, the equilibrium

output is equal to ex-ante Aggregate Demand (AD).

In the light of the given statements, choose the correct alternative from
the following :

(A)
(B)
(©)
D)

2.  Identify, which of the following is not considered as ‘Normal Resident’ of India ?

(A)
(B)
(©)
D)

Statement 1 is true and Statement 2 is false.

Statement 1 is false and Statement 2 is true.

Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

1
An Indian citizen working in U.S.A. embassy located at New Delhi.

An Indian officials working in Indian embassy in China.

An Indian diplomats visiting Canada for a summit.

An Indian working in an American Company located in New York for

a period of more than 1 year.
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3. T HlcuHeh AL H, Al T AR 3T T ITH fehar ST1at 8, 1 et 7oren

Ok o] BATT | (@& faenea gra ferm T <A1 gfd 1)
(A) THE (1) (B) 3 (0)
(C) T (0) T FHTE (1) S TeA (D) 3 ()

4. e foret srefegaeen § AR e T 200 HUS H1 =T €1 @I 8, qUT IR 61 Tod

3900 FS &, d Fafa w1 e 2 HUS BT |

(@& foreme g T T &1 gfd & )
(A) 200 (B) 1100
(C) 1700 (D) 900

5. it TEIAT g Ueh U O o Y < ToAU sk § foram = =or |

T HU W HZT o Tehicd 1 hl TEITH i :
(A) o= mem (B) Tod T
(C) Wrd =i 3hT3 (D) fercifera sram % "

6. T T ATfeTeht G, 3T o 3§ TR 3l T69H &1, el 318d g=d Sgfd (APS) ¥ & :
(Tl foshed 1 T B 1)

I R HY) 0 | 50 | 100 | 200 | 300 | 400
ST @HUE) | 50 | 75 | 100 | 150 | 200 | 250
Toreped

(A) 50 (B) 100

(C) 200 D) 0

7. afe foreft sreiereren § yrftres ST UM T 4,000 U & 9uT 3mfda U@ (RR) 10%
2 | giid S 51 1 4e3 3 HUS BAT |

(&gt fershed R e T <61 gfd &L 1)
(A) 4,000 (B) 40,000
(C) 2,000 (D) 20,000
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3. In a hypothetical economy, if entire additional income is consumed, the

value of investment multiplier would be

(Fill up the blank with correct alternative.) 1
(A) One(1) (B) Zero (0)
(C) Between zero (0) and one (1) (D) Infinity (o)

4. If in an economy the Balance of Trade is showing a deficit of ¥ 200 crore
and the value of import 1s ¥ 900 crore, then the value of exports would be

3 crore. (Fill up the blank with correct alternative.) 1
(A) 200 (B) 1100
(C) 700 D) 900

5.  “Mr. Sahotra borrowed funds from bank for purchasing a new house”. 1

From the above statement, identify the indicated function of money :
(A) Medium of exchange (B) Store of value
(C) Unit of account (D) Standard of deferred payments

6. From the given table, identify that level of income, where Average
Propensity to Save (APS) becomes zero :

(Choose the correct alternative.) 1

Income (% crore) 0 50 | 100 | 200 | 300 | 400

Consumption R crore) | 50 | 75 | 100 | 150 | 200 | 250

Alternatives :
(A) 50 (B) 100
(C) 200 D) 0
7. If in an economy the initial deposits are ¥ 4,000 crore and Reserve Ratio
(RR) is 10%. The value of total deposit created would be¥  crore.
(Fill up the blank with correct alternative.) 1
(A) 4,000 (B) 40,000
(C) 2,000 (D) 20,000
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8. TmfciRad H & 3 Wl Rl hl TgaH Hi, S Feret i srefemaen o faef gg i mafd
! TWTIerd L Fehd & :

[. 3ig H Ush YA g 3 STHIA
II. dreved ¢ 3T foeeh wies
III. Microsoft g1 US $ 500 fuferm s em
IV. 3T2RH g Seer ST 9l YR 813

Tahey :
(A) 1911 (B) 191V
(C) II9III (D) 191V

9. UEAH L, € 7T 3R § BRIfhd & (AEFG) 1 gIiar § ?

I 399> 3™
1. &=d =3 (0)
III. 399 < 3™
IV. &= <3 (0)

Tareneq
N ER B) I III
(C) IIIalVv (D) IaIV
givaTiRma ahenfie % forg :
Hadsed g (MPS) ®od Sl g 8l g |
(T forehcd T == R 1)
(A) 3T (B) «m @
(C) ==d (D) fem
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8.  From the following, identify the correct reasons that may affect the supply
of foreign exchange in an economy : 1
I.  Purchase of land in England by an Indian
II. Foreign tourists visiting Taj Mahal
III. Donation of $ 500 million from Microsoft

IV. Indian students going to Australia for studies

Alternatives :
(A) TandII (B) IIandIV
(C) II and III (D) TandIV

9. Identify, what does the shaded area (AEFG), in the given figure indicate ? 1

I.  Consumption > Income
II. Saving = Zero (0)
III. Consumption < Income

IV. Saving < Zero (0)

Alternatives :
(A) TandII (B) II and III
(C) IIIand IV (D) TandIV

For Visually Impaired Candidates :

Marginal Propensity to Save (MPS) is the slope of function.

(Choose the correct alternative.) 1
(A) Consumption (B) Cost
(C) Saving (D) Investment
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10. TN T S H1¢ <1 ATIH - o HATIR W B2 |

(A) @

(C) el d@rdm

11. (a) TR sfesi % YR T A ATE W Y T3 I (NVA) 0T

(Tt forehe gru ek o <1 gfed = 1)

(B) HHEISH
(D) e @

N
FT . L Tl (X e )
G | Tl dgefra el (srgmra 15
Site hiet-5 o)

Giy | R fehl 200

(i) | %I Ul ) 10
(v) | Fa 10

(v) | Tl STRINT 3eATeh Sy 120

(vi) | et arieaer st 20

CILE]]

(b) Tr=feiiaa sTterei NI, TG Tced L (NIT) 3l Ho T i

FH . q T (s H)
@) | ST WY TR 37Te (NNPyp) 1,400
Gi) | Tereer & 9TH g ek 3 ) 20
(iii) | ST AT R Hhed TER 3Te (GNPp) 1,300
Gv) | RSt s g 100

12. “afe v Ty =Te] @t 91 i feufe o1 1T o T 8, 1 IR =1eT 3769 IUTed g

2

=T doh] g1 YU HU T FHIT 37T Ted |
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10. The measurement of Balance of Payments deficit is based on

transactions. (Fill up the blank with correct alternative.) 1
(A) Autonomous (B) Accommodating
(C) Current account (D) Capital account

11. (a) Calculate Net Value Added at Factor Cost (NVA) from the following

data : 3
S. No. Particulars Amount (in ¥ lakh)
(1) Fixed capital goods 15
(expected life span — 5 years)
(11) Domestic Sales 200
(111) Change in stock (-) 10
(iv) Exports 10
(v) Single use producer goods 120
(vi) Net indirect taxes 20
OR
(b) From the following data, estimate the value of Net Indirect Taxes
(NID) : 3
S. No. Particulars Amount R in crore)
(1) Net National Product at 1,400
Market Price (NNPy;p)
(11) Net Factor Income from abroad (-) 20
(111) Gross National Product at 1,300

Factor Cost (GNPp()

(iv) Consumption of fixed capital 100

12. “Trade Deficit must exist, if a country is facing situation of Current
Account Deficit (CAD).”
Defend or refute the above mentioned statement with valid arguments. 3
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13.

14.

15.

16.

17.

M i, T sreeaeen gged A g | FefeRaa stfeei gru steieaen # e == 6t
U o :

()
(b)
()

(a)

(b)

TE 311 (Y) =2 10,000 U
Hard 399 &g (MPC) = 0.8
W 399 (C) = T 100 S

()  “HgTeRifd S 0 S o 39T A, TIHR AT S ] Hehal & |
TLhR g 331U ST Teh] 1A, 39 Tk oh SheH o deh 9 shl T=] ot |
(i) wrelt whT % fagia o1 uftarfya = |
AT
(i) “HICTEE % IFRET T=F” o 3 I Ioor@ h |
(i) “uh FrferaEdn §, guy 5T (AD) Tum ufd (AS) ¥ At & |
ITe, 3T I TSR o T 9T §Heh THTTerd TTE] <l feRaR & THEy |

“UR o s g1 Gol ST9R HaTel | Steraw ¥ gg1 3mqfd o faf=fia oo 8
TErd i wendi g |
few T e ot 3ffae g L |

()

(b)

()

(b)

(i) TR YoRd = J YT T H AIGTETT 3T T i |

(i) “IeuTeT MeaTe AHT (PLIY & 3T YA ThR 3TRITa -3t Yo
HH1, TrarTehi b1 TTcHTE, L e 3Tfe S forf¥= v IgH it @ 17
ITUFT HYUT o ATCAleh H, g9l 329d o 3Teh I INOMHT hl 989 o
ST H |

YT
(i) “S W, I Y9G’ (Zero Defect, Zero Effect) JISHT % 3Taiid WRd
TN T, HR Ta ez 3UshHi (MSMEs) w1 80% b SUeH el & |
U T H EIMT T TLHR] §91C o 32 h! U8 ohi o THA |
(i) ITIHI ICTEUN g TAT HY T ‘I U H 3T T Hh |
femp 11 319, 2023 % The Economic Times %Wﬁ'l’fl’:l}l’l’(
“fera af 2022-23 ¥ saifekees araAl 6t fersht 10 M@ 6 UR”

30 GUTAR T, Tehel BT 37UTE I ThedTul T IS ITel YT THTE o1 foersor & |
Teh Tg-8oreh STeqae H 311 o <shig T8 TN Hiefe == i |
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13.

14.

15.

16.

17.

Suppose, an economy is in equilibrium. From the following data, calculate
investment expenditure in the economy :

National Income (Y) =3 10,000 crore

Marginal Propensity to Consume (MPC) = 0.8

Autonomous Consumption (c) =¥ 100 crore

()
(b)
(©)

()

(b)

@

(11)

(1)
(i1)

“With an objective to reduce inflation, government may reduce
public Expenditure.”
Discuss the rationale behind such a step which may be taken by
the Government.
Define Effective Demand Principle.

OR
State the meaning of ‘unintended accumulation of inventories’.
“In an economy, Aggregate Demand (AD) is more than
Aggregate Supply (AS).”
Elaborate the possible impacts of the same, on the level of
output, income and employment.

“Open Market Operation by the Reserve Bank of India (RBI) helps in
regulating money supply in the economy.”
Justify the given statement.

()

(b)

()

(b)

(1)
(i1)

(1)

(11)

Distinguish between Revenue Expenditure and Capital
Expenditure of a government, with suitable example.
“Under the ‘Production Linked Incentive’ scheme, the
Government of India offers various benefits like reduced
import-export duties, incentives to investors, tax-rebates etc.”
In the light of above statement, identify and explain the Budget
objective and its likely consequences.

OR
“Under “Zero Defect, Zero Effect’ (ZED) scheme, the government
of India provides up to 80% subsidy to Mini, Small and Medium
Enterprises (MSMEs).”
Identify and explain the objective of government budget,
highlighted in the above text.
Distinguish between Direct tax and Indirect tax with suitable
examples.

As per The Economic Times report, dated April 11, 2023

“Electric Vehicle sales cross 10 Lakh mark in financial year 2022-23.”
Analyse the likely impacts of this news on Gross Domestic Product
(GDP) and Welfare.

Discuss briefly, the circular flow of income in a two sector economy
model.

3

3
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ST o Hofee! fireft |

forepe

(A) 3AfTHL (A) 3R FHROT (R) SHT T & 3T R (R), AMHYA (A) 6t Tt =men
=

(B) 3fheM (A) 3T RO (R) ST TcF & ik SO (R), J0MHeH (A) 6t &gt
ST 2l il B |

(C) 3RHeH (A) T 7, Afeh T (R) 36 2 |

(D) 3R (A) 3HH B, wfehd SR0T (R) T 2 |

19. < % oR § Hicm-1 T § TE ge1ali 9 Hiom-11 H fou Tu qergar a2 < & I &1
EDECTE

Hiad-1 Hiaq-11
(a) | ECETCH, Ui () | Hifera el
(b) | Te =ld e Al (if) | = SREgAl bl cifeere #i 4 sl

() | STehicieh FETEHI o AN W 3ed 5t (ii) | STTEEET T 3Hed Bl

(d) | 2014 ¥, Hehet B 341G H Gl (iv) | ST SRR T wfard

faeg -

A) (@-0) B) (b) - @)
(©) (o) —(n) D) (d) - @)
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SECTION - B

(Indian Economic Development)

18. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

19.

58/5/1/RR5SP/22 Page 13 P.T.O.

Assertion (A) : India could not develop a sound Industrial-base during

the British rule.

Reason (R) : Britishers followed restrictive trade policies, which

strengthened Indian handicraft industries.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) 1s false.

(D) Assertion (A) is false, but Reason (R) is true.

From the events given in Column-I and facts given in Column-II about
China, choose the correct pair :
Column -1 Column - I1

(a) | Structural transformation (1) | Limited Urbanisation

(b) | Great leap forward campaign | (i1) | Reduced global demand
for Chinese products

(¢c) | Less stress of usage on (i11) | Low density of population

natural resources

(d) | Slowdown in GDP, since 2014 | (iv) | Aimed at massive
industrialisation

Alternatives :

A4) (-0 (B) (b) - @)

(C) () — (1) D) (d)-@av)



20. THAAAT U TRAR FAITEAT b ASHT I3 o &9 H MYHEHRWT b T97 & A
THRER Y |

I.  GmTieh giEehior § HehRIcHeh TREGH ST
I 3T 1 g fadm

1. Sefies 3=

IV. 3TiRie fawsH 3 9ig

CET

A) 1911 (B) II9III
(C) IaIIl D) IalV

21. Tmafafea oz st =t

faferefientor nfafaf s o 4 % AT qiEheud TiTerfer o Jehrl hl qa= ot |
(@Et fersped gra o T < gfd ot )

faeg -

(A) TITeH (B) He=dTed
(C) S fog (smmErw) (D) SHferh iy
Siaiém wdtefi & forg :

Tt Teh UE TOTTEA! 7, S TR S i AEAiUd i, S0 W@ 9 Jfg
T H TR Bl 8 |
(A) ag—wﬁa (B) RS IRIEED
(C) s (D) YRURH
22. THTTRET T hI TG ST h ;
HYT 1 : STRI JTI0T ITlIehToT SshaT o Tewerqul Tl § § U5 § |
HYA 2 : TR b DRV, T3 WRATT FHHIRIT A foeeni § - IR A g H 2 |
TeU U el o 3T H, Tfaiigd § 8 Tel faehed 1 T3 shifeu ;
(A) HYF 1 T2 M HAT 2 IEA R |
(B) YT 1 AT IMHAT 2T R |
(C) HFYT1INM2TNHAAE |
(D) H¥F 13 2 AT AT ¢ |
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20. After independence, the rationale behind choosing Modernization as a

21.

22.
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planning objectives for the Indian economy were

I.  To bring positive changes in the social outlook
II. Equitable distribution of income

III. Technological Upgradation

IV. Increase in Economic Divide

Alternatives:
(A) TandII (B) II and III
(C) TandlIII (D) Tand IV

Study the following picture :

Identify the kind of activities, which may be envisaged under as
diversification activity.
(Fill up the blank with correct alternative.)

Alternatives :
(A) Animal Husbandry (B) Fisheries
(C) Horticulture (D) Organic farming

For Visually Impaired Candidates :
farming is a system that is helpful in restoring, maintaining and
enhancing the ecological balance.
(Choose the correct alternative to fill in the blank.)
(A) Multilayered (B) Chemical
(C) Organic (D) Conventional
Read the following statements carefully :
Statement 1 : Outsourcing is one of the important outcome of
globalization process.
Statement 2 : Owing to globalization, many Indian companies have
expanded their operation abroad.
In the light of the given statements, choose the correct alternative from
the following :
(A) Statement 1 1is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both statement 1 and 2 are true.
(D) Both statement 1 and 2 are false.



23.

24.

25.

26.

217.

TfeheT H 3TTeh LRI 3T TRA U T g AT |
(Tt fohed gra o T <l qfd i 1)

(A) 1978 (B) 1980
(C) 1988 (D) 1991
frfaRad HeAT 1 STYEeh TERE & :

HYF 1 : = 7 i gt o s el i St & forw woifass gfdsrgar st
TR AT, ST e o ohT JAINT foham o |

HY 2 : TR, TR d = hi Wifdeh Qe H9=d131 H 1 k] THMT & TG 3Rl
Tfiferes seemd faespet =1 2 |

(A) HYT 1T INFHYT 2 3T ¢ |

(B) %Y 13T M FIT 2T L |

(C) H1IM2EA T2 |

(D) YT 1 3N 2 I 3EAE |

freft g o Gohdlh h! TTHTRTE & ToiIfaeh ol o o sHaiferda wwfier 6
T % TTq o T T qiriyd fmam S dehdT 7 |

(Tt foshed gra e T <6t qfd i 1)
(A) 3TRieh (B) @
(C) SHHIfETh (D) Lol

frefafad et 1 SIYEes 37eeH i

HYT1: Ay gl wfl +1 Wl YR W %W W W1 a8 997 3%
TR GRedt o oft freran 2 |

HYT 2 : AT T T USTR ITH TUT SISHTR ST SH ekl bl iRiferd foham Sman g |

feu U AT & ITeties H, et o @ gt fomhed @1 wEm Fifsw

(A) HYF 1 T2 IMNMHAT 2 A2 |

(B) % 13T I FHIT 2T R |

(C) HUT1IM2TA TAE |

(D) ¥ 132 TEI AT |

H&H R (Micro Finance) 3t JSHT bl T YO & H1eAy § faedmia
ERISICIES

(@t ferepe gra e T <t gfd W 1)
(A) T TERICT TYE (B) ft fereprar Sieh
(C) &=t TrHior s (D) aforfsas s
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23.

24.

25.

26.

27.
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Introduction of Economic Reforms in Pakistan took place in year

(Fill up the blank with correct alternative.)
(A) 1978 (B) 1980
(C) 1988 (D) 1991

Read the following statements carefully :

Statement 1 : China has used Market system mechanism without loosing
political commitment to create additional social and economic
opportunities.

Statement 2 : India, Pakistan and China have similar physical
endowments but totally different Political systems.

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

indicator may be defined as the measure of the extent of
demographic participation in Social and Political decision making in a
Country.
(Fill up the blank with correct alternative.)
(A) Economic (B) Health
(C) Demographic (D) Liberty

Read the following statements carefully :

Statement 1 : Casual workers are hired on a permanent basis and also
get social security benefits.

Statement 2 : Workforce comprises, both employed and unemployed
person.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

The scheme of ‘Micro Finance’ is extended through credit
provision.

(Fill up the blank with correct alternative.)
(A) Self help groups (B) Land Development Banks
(C) Regional Rural Banks (D) Commercial Banks
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28. (a) “Opening up of Suez Canal helped in establishing the British
monopoly control over India’s foreign trade”. 3
Justify the given statement with valid arguments.
OR
(b) “Development of Railways during British rule encouraged colonial
exploitation of the Indian resources.”
Justify the given statement with valid arguments. 3
29. Explain the role of affordable healthcare facilities in promoting human
capital in a country. 3
30. From the given data compare and analyse the Population Density and
Fertility Rate of China and Pakistan, with valid reasons : 4
Demographic Indicators, 2017-18
Country| Estimated Annual [Population| Sex |Fertility|Urbanisation
Population | Growth of Density | Ratio| Rate
(in million) |Population (per
sq. km)
India 1352 1.03 455 924 2.2 34
China 1393 0.46 148 949 1.7 59
Pakistan 212 2.05 275 943 3.6 37
31. (a) (1) “Infrastructural development is an essential element to obtain
the full potential of the rural sector in India”.
Justify the given statement with valid arguments. 3
(i1) State the meaning of ‘Human Development’. 1
OR
(b) “In a nation like India, self employment provides an important
avenue for employment generation.” 4
Defend or refute the given statement with valid arguments.
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32.

33.

(a) Study the following chart of Employment and Gross Domestic
Product. Analyse the trend of the two variables between 1990-2012.

(b)

(a)

(b)

For Visually Impaired Candidates :

Explain why are regular salaried employees more in urban areas

than in rural areas.

Define Worker — Population Ratio.

(1)

(i1)

®

(i1)

“Indian economy has certain advantages, which have made it a
favourite outsourcing destination.”

Do you agree with the given statement ? Give valid reasons in
support of your answer.

“In the post-reform period the government of India decided to
privatise profit making Public Sector Undertakings (PSUs).

Do you agree with the given statement ? Give valid arguments

in support of your answer.
OR

Explain the need and type of land reforms implemented in the
agriculture sector.

“Industrial sector performed poorly in the economic reform
period.”

Elucidate the given statement.

3
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34. Read the following text carefully :

India has aimed to reduce the country’s carbon intensity by approximately
45% by 2030. To achieve this ‘Green finance’ plays a vital role. At the
initial stages, green finance needs a big push from the government. The
Indian government has identified projects worth ¥ 25,000 crore that will

be financed by proceeds from Sovereign Green Bonds.

According to the framework approved by finance ministry, the sovereign
green bonds will focus on financing public projects including renewable
energy, climate change, clean transportation, sustainable water and

waste management and pollution control.

Businesses that take green finance can get benefit in various ways. It can
help them follow different environmental norms and regulations and thus
avoid possible fines. Adopting sustainable developmental practices
enhances brand value of businesses. Customers tend to prefer brands that
adopt clear sustainable development practices. The energy-efficient and
other sustainable development practices promoted by green finance also

often help in saving cost, boosting profitability of businesses etc.
— The Economic Times, April 22, 2023 (Modified)

On the basis of given text and common understanding, answer the

following questions :
(a) Define sustainable development. 1
(b) State the public project areas, where Sovereign Green Bond are focussed. 2

(¢) How can businesses get benefit from green finance ? 3
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